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HUE - 3 / SECTION - A

FfS W / Objective Type Questions
Ty WET 18 100 7% & W F W 9 fwey v ny & fred @ v @@ &
fret 500V & g7 1 9T gRT g7 7y AR fraew wt oMR iz wv FfeTd
FI | 50 x 1 =50

Question Nos. 1 to 100 have four options, out of which only one is correct.
Answer any 50 questions. You have to mark your selected correct op tion on

the OMR Sheet. 50 x 1 =50
1. uRed geE ¥ o |, 99 gher TE 8

(A) AT TR H . (B) FHRIRF

(€) Yot W= IA % (D) ¥ @ adft

In the absence of partnership deed, partners are not entitled to get
(A) Salaries (B) Cominission
(C) Interest on capital /(B')/ Allof these

() TR IS

€ (A) 3R (B) e (D) ¥ A IS T
A new partner brings for his share of Goodwill
(AW Cash (B) Capital

(C) Both(A)and (B) (D) None of these

3. fuafafen § @ S-m enfa 6 vl g 2

(&) 9@ H @i - @ T @ ek
©) wnHenfy (D) TH 8 it
Which of the following is a nature of goodwill ?

(A) Rat goodwill (B) Cat goodwill
(C) Dog goodwill /(D]" All of these

4. e SR & <rid TG 6 T H AR .
(A) waFExME@EN  (B) FA I x e
(€) A+ Iftwa & D) i & B
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Under superprofit basis goodwill is calculated by
(A}  Purchase year x Average profit
(B) Purchase year x Superprofit
(C) Purchase year + Average profit
(D) None of these
5. EﬂﬁaaﬁSNM%aaaﬁznaTHaﬁ%
(A)  TER H B) wifea I
(C) We e (D) W Eh
Factor(s) that affect(s) goodwill is/are
(A) Favourable location
(B) Capital required
(C) Efficiency of management
f@ All of these :
6.  fuemy @ 39 w1 ARG | ? .
(A) A @ + TEI H GG
(B)  3MHd W™ - TEAE T
() wif @+ wT = HFEW
(D) ¥ A BT
What do you understand by superprofit ?
(A) Total profit + No. of years
(B) Average profit — Normal profit _
(C) Weighted profit + No. of years purchase
(D) None of these
7. HWTR 9E O@T gAI qutal 3

() 29w B) eIy

€} (A) 3 (B) S D) ¥ & B 7

General Reserve Accour}t always shows

(A) Debit Balance (B)  Credit Balance

(C) Both (A) and (B) (D) None of thege
25A/12/132
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8.  TAHcHIHA W &
(a) =i @ (B) areafas @
(C) AmETE @ (D) % & i T
Revaluation Account is a
(A) Personal A/c ~ (B) RealA/c
_{Cy Nominal A/c (D) None of these
9. e W § e uw = 3fwe vy W anfiem wgemm @
(A) @™ B) @R
(C) wifw (D) =
Excess of credit side over the debit side in Revaluation Account is
called
Profit ' (B) Loss
C) Receipt (D) Expense
10, o WISERT 1 qUST AW SAIE &
™ 3iEE B 55
© =iziz e 1238
Equal profit ratio of three‘partners is
W Lk
(C) "13"':13-%" _ (D) %—%i—
11, st (o $oft o shue) fam, 2014 % SER, m%m%:@
mﬁaﬁr@rwﬁﬁﬁmﬁwsﬁmaﬁwwﬁnﬁwm@m?
A) 25% B) 50%
(C) 100% (D) A
According to Companies (Share capital and Debenture) Rules, 2014
by which percentage of the amount of debentures will have to
create Debenture Redemption Reserve, before the commencement
of redemption of debentures ? ) '
&y25% (B) 50%
(C) 100% (D) Zero
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12, #q Rafide § 5% 100 §o ¥ 10,00,000, 7% FVITH Hl 4% ot F W
mﬂ%m:a’lsaﬂ%mﬁ%%aqﬁqﬂm!ﬂméiw%ﬁ*hﬂm
w2
(A) 10,00,000%0 (B) 6,00,000 %0
(C)  4,00,000 %o D) T @ HiE A
Deep Ltd. issued 10,00,000, 7% debentures of Rs. 100 each at a
discount of 4%, redeemable after 5 years at a premium of 6%. Loss
on the issue of debenture is
(A) Rs. 10,00,000 (B) Rs. 6,00,000
(C) Rs. 4,00,000 (D) None of these

18. o & Wi & vy T wug @’ &1 9 sraia e wm e

(A)  EW-gF ot § (B) W §9.@M@ #

(€ fafdr wog @m & D) T FFHT

The balance of ‘Sinking Fund Aceount® after the redemption of
debentures is transferred to - '

(A)  Profit & Loss Statement (B) General Reserve A/c
(C) Sinking Fund A/e (D) None of these
14. V@ HUHE H G R Tl fh wman @ sl iftem @ siew e o 2
a9 59 YR % Frins @ gify fre @@ % am ey i ewfy § 2 _
(A) @ I fae (B) RUGA JATEEH T ATEH e
€ = e e Ea (D) W Wit g
When debentures are issued at par and are redeemable at a
premium, the loss on such an issue is debited to
(A)  Profit & Loss Statement
(B}  Debenture Application & Allotment A /c
(C) Loss on [ssue of Debenture A/c
(D) Premium on Redemption A/c

15. #Hugd e i it § |
(a)  TREH g M (B) fredi i fug
(C) wHEYa Y fafy D) i § wf
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Method(s) of redemption of debenture is/are
{A) Redemption by conversion
{(B) Redemption on instalments
(C) Lumpsum payment method
/D) All of these |
16. Kﬁwmﬁwuﬁtﬁvﬁﬁﬁﬁaﬁﬁ@mm

() EaeE fRunad o B) T frmad &
(€) Traw B 4 (D) U3 T T3 HHgA A
Sale of marketable securities will be shown under
(A) Operating activities ~ (B)  Financing activities
(C) Investing activities (D} Cash & cash equivalent
17. % foq waum @ _ o
a) = T - (B) i HE
© (&) 3k (B) N (D) =& H
Provision for Tax is -
(A) Current liabilities (B] Internal reserve
(C) Both (A) and(B) (D)  None of these
18, &t &1 afts RO Fia e g |
(A) HEwE W (B) weitd W few
() FnurlEi ¥ g - (D) ket & g
An annual report is issued by a company for
(A) Directors (B} - Management
Shareholders (D) Auditors
19. feraor B £
(&) iy qex (B) rfireifEw ao
(C) IFAIHE e D) i @ = T
Financial Statement is !
(A) Anticipated fact ,LB)/ Recorded fact
{C) Estimated fact (D} None of these
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20. Wx® 9 widvges frm Avfi % srwia Imd @ 2
(A) e wefl B) e et
(C)  3mpd wfer (D) W wf
Patents and copyrights fall under which category ?
(A) Current Assets | (B) Liquid Assets
M_ntangiblc Assets (D)  All of these
21. UF WEER $ geg A W ot anei $ R o v dgw e dim gt
¥R w2
(A) oiferst <t iy (B) ®HUYI HeH

(C) uaw wigier i uiferely uftt (D) weft A@ERT 61 FHd e
On death of a partner, the firm gets for joint life policy taken for all
partners is '
~(A) Policy amount
‘{B} Surrender value
(C) Policy amount of deceased p:;rtner
(D) Surrender value of all partners

22. HEER K gy W A e A

(A)  Yoit @ @ B) Fumes @@ a

() (a) 3 (B} (D) A Sl | |

On the death of a partner, final payment is made through
(A} CapitalA/c ABT™ Executor’s A/c

(C) Both (A) and (B) (D) LoanA/c

23. WRHER % ISR H al Hd Al Al g ?
(A)  UERR F FEEM W (B) WRER H (Y W
(C) HTHEN & ¥au W (D) ¥ & = Tl
When is the partner’s executor account opened ?
(A)  On retirement of partner

On death of partner

(C) On admission of partner
(D) None of these
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24, ®H = w agelt @R % e v ¥ faan @ @ o

(A) M B) sz

() =frE (D) @l

Legal expenses are recorded in which side of Realisation A/c ?

(A Debit (B) Credit

{C) Liabilities (D) Assets
25. % % Ruer & wva aoel &1 g o0 9geh @R $ fre oa o foa
JAraT 8 ? .
A) sfe (B) whise
) wfR= (D) ¥ 8 ®R A

At the time of dissolution of firm, book value of assets is recorded

in which side of Realisation Account ?

__ ,fm Debit (B) Credit

T(ﬁ Liability (D) Nefiewof these
06. Wi % fagen W gmhwl = frsa g age &1 ufy foreht st @
(A) St @ | B) e @a
(C) =@ECH 7 o) AR

Amount realised from sales of assets, on dissolution of firm is

recorded in

(A) Realisation A/fc (B) Liabilities A/c
(C) Expenses A/c . (D) None of these
27. aaﬁq@m%sﬁmmﬁla&:wmmﬁﬁﬁém%amm
fema S
(A) age @ A | (B) kg @l |

) wdrwdhe@d (D) FHERETE
’\l;fhen a partner takes responsibility to make payment of any
outside liability of the firm, the account credited will be
(A] Realisation A/c (B) CashA/c
7IC]  Partner’s Capital A/c (D) None of these

e e e e R
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pra————————T L SR
A TghERH Ead  (B) R LA
() vgRuRFsmumwd (D) o @ 5 @
Unrecorded liabilities when paid are shown in

{A)  Debit side of Realisation A/c

(B) Debit side of Bank A/c

(C) Credit side of Realisation A/c

(D) Credit side of Bank A/c

afe GEIT % T i % gy A B gEA A @ A @

(A) YT & Em (B) Ul e g

(C) 3fif¥eh yram &R D) T A i

If at the time of dissolution nothing is said about liabilities, then

(A) Never paid s Fully paid

(C) Partly paid (D) Noheofithese
o % fige w arder % ¢ @r O9g A €

30.
(A) THE WA F W | (B)~ 2TET Wid & WieAd
€ %% EnFuEEd (D) W G H AN H
On dissolution of the firm, Partners’ Capital Accounts are closed
through *
(A) Realisation A/c (B) Drawings A/c
ey Bank A/c (D) Loan A/c

31. ‘fyfra faaor wee & Wit €id €
A) em-g fae (B) feufa famrm
€ (&) 3 (B) 3 D) wTHIBEAE
The term ‘Financial Statement’ includes
(A} Statement of Profit and Loss
(B) Balance Sheet

“Both (A) and (B)
(D) None of these
25A/12/132 | Page 10/ 32
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S affRm, 2013 % R ks fy % g #ar

(A) HHAS (B) =Eq

©) (A) A (B) B D) T & g

The form of Balance Sheet as per Companies Act, 2013 1s
(A) Horizontal (B) Vertical

(C) Both (A) and (B) (D) None of these

s gt w1 fewrn S @

(A) WA W (B) TE Y FH HH
(C) @ I W (D) <A HET BTH HHT

Fixed Assets arc shown

(A) At par value

(B) At cost price less depreciation
(C) At cost price

% At realisable value less depreciation
34, Todrr freor i fya e @ o @
(A)

35.

pECCT By Ol ded
(C) TR (D) T & |l
Parties interested infinancial statements are .
(A) Managers | (B) Financial institutions
(C} Creditors All of these

S5 A 1 s gensl % Reda Rl w e e @@ s
Eiri :

(A) afeE B fEvem (B) H=R H fawets

(€ e fawemm (D) ¥ ¥ H T

When financial statements of two or more organisations are
analysed, it is called

(A) Intra-firm analysis (B) Inter-firm analysis
(C)  Vertical analysis (D) None of these
6. fasdra favdrgor goarh 2
(A)  fafrnmsaiat & T (B) il & ferg
(€ Ayl & feg (D) ¥ ' i
VIS Page 11/ 32

by:BSEBResult.In


https://bsebresult.in/bihar-board-12th-accountancy-question-paper/
https://bsebresult.in/bihar-board-12th-accountancy-question-paper/

(220 ]

Financial analysis is useful for

(A)  Investors (B) Sharcholders

{C) Debenture holders _Br~All of them
37. mmﬂﬁm%mma&ﬁgmmm% ?

(A) ETe Oy ® T
(€) amuv s (D) i & w7
Which year can be selected for calculating trend percentage ?
(A) Current year (B) Previous year
_,(.E‘)"'/ Base year (D) None of these
38. fasra § @ ¥ MU O 6 @ g wia i T Tl Felt 2
(A) EYTER E™ (B) HHel @™
€ Yao™ (D) P
Sales less cost of goods sold is called
(A) Operating profit (B) Grossprofit
(C) Net profit ' (D) Tetal'profit
39. = # @ P-4 fefiw fomm & fogetem ) Rfw A& 2 2
() I (B) qeHIHF faverol
() s forgcta (D) qefiepeon fafy
Which of the fellowing is not the method of financial statement
analysis ? Y
Ratio Analysis (B) Comparative Analysis
(C} Trend Analysis (D)  Capitalisation Method
40. GHA FHN & e wa: &R feu e #
(A) T % ¥ H B) wfrwm % v i
(C)  (A) 3 (B) T (D) o @ =
Common size financial statements are mostly prepared in the
form of
(A} Ratio (B) PCt‘CCntagc
(C) Both (A) and (B) (D) None of thege

. Ay o
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41. oHIgd W g S IR

() TR (B) WA Wiy

(€) wmfy | (D) M

Legacies should be treated as

(A)  Liability (B) Revenue Receipt
(C) Asset (D) Income

42. Yeiina wefa 61 et st g et 2
(A) ™ U§ = @ H (B) eufe foaror #
(C) wV-gf @ A (D) Uhg varg et 4
~ All receipts of capital nature are shown in
(A) Income and Expenditure A/c
(B) Balance Sheet
(C) Profit and Loss A/c
(D) Cash Flow Statement

43, Hfim ww =% ¢
(a) & (B) . (A
(C) =M (D)~ i
Subscription received.irf advance is
(A) Asset : (B) Income
" (C) Expense * AB7" Liability
44, wRed wfufan few ad ww gen ?
(A) 1932# - (B) - 1956 ®
) 1947 (D) 2013%
In which year did the Partnership Act come into force ?
&~ 1932 (B) 1956
(C) 1947 (D) 2013
45, o ¥ Riu AR H TRV WA R
(A) =4 (B) M
© @i (D) W
For the firm, interest on partner’s drawing is a/an
(A) Expenditure BT Income
(C} Loss (D) Receipt
EESA,’IQ/ISZ Page 13 / 32
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46. GIEER! #, WIPEHl ey T4 B

A) e B) Ufe®
(C) =i (D) WA FE A&l
In partnership, preparation of partnership agreement is
(A) Compulsory _iB~ Voluntary
(C) Optional (D) None of these

47. v 4ot fRr @ @ aerl = G am feamm 2
(A) A (B) W1 I
© w™ (D) wf
When capital is fixed, the capital accounts of partners show
(A) Debit balance (B) Credit balance
(C) Profit (D) Loss

48. T WIHAR B & fore arravas R
(A) TEEH B (B) ITEH. A
(©)  (A) 3 (B) QA (D) FHEHRE T
To become a partner it is essential to-be

/@ Adult (B) Minor

(C) Both (A) and.(B) (D) None of these

49.  WIEEH doT@ F IE ¥, HHCR B
(&) e fer smom

(B) =@ TEl e wmem
(©) wiha el # e o smem
(D) ¥ & FE T
In the absence of partnership deed, partner
(A)  shall be paid salaries
shall not be paid salaries
(C) active partner shall be paid salaries
(D) none of these

50. a@mﬁmﬁw‘@m%

(A)  THAEH (B) THRIH
Cc ¥ D) ¥ @ &+
25A/12/132 | Page 14 / 32
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The balance of Current Account can be

(A)  Positive (B)  Negative
(C) Zero (D)  All of these
51. freforftea wel § @ fordt vy srgume o oM & o W fean e & 2
(A) AR B) R
(C) AR (D) o arftrfemd
Which of the following items is not taken into consideration while
computing current ratio ?
(A} Creditors . (B) Debtors
(C} Furniture (D) Bank overdraft
52. @ gt o mite @ :
@) = faw (B) TR
© s (D) AR
Liquid assets include
-{A)  Bills Receivable * (B) »»‘Bebtor
(C) Cash ¢ ﬂ@ All of these
53. WHEHEA hit g6 wwafEis, 00,000 wo @ T@H 5,00,000 Fo B W] 3@
fore witwra =1 afadager 2
(A)  20% B) 25%
(C) 33%% (D) 50%
Tangible assets of a company are increased from Rs. 4,00,000 to
Rs. 5,00,000. What is the percentage of change ?
A)  20% (B) 25%
(C) 33%% (D) 50%
54. HEIEH 37T 2 .
(Ay  STIERERAT AT (B) Toramefieran swguma
(C) aMeEHAT I (D) ¥ & #i§ 7
Operating ratio is |
{A)  Profitability ratio (B)  Activity ratio
(C)  Solvency ratio (D)  None of these
25A/12/132 | Page 15 / 32

by:BSEBResult.In


https://bsebresult.in/bihar-board-12th-accountancy-question-paper/
https://bsebresult.in/bihar-board-12th-accountancy-question-paper/

o

(220 ]
1] wrRei § e 3 geafl @ il e s @ R o 3 o
Igeht N I @

(A) 3™ % 3y (B) 6 W& % 3

(C) 198 a7 D) 234 F X

Current assets include only those assets which are expected to be
realised within

(A} '3 months (B) 6 months
__f@ 1 year, (D) 2 years
56, “TTER ATEdT I § wifiver Far e
(A)  F UN A (B) ¥l IuR fashi
(C) FHel g fehi (D) B Ahe A

Creditors turnover ratio includes

(A) Total credit purchase (B) Total'credit sales

(C) Total cash sales (D) __ (Total cash purchase
57. Uhg varg o dan fean sig
(a) 3 fagr @ B) emw-gh wr o
() fafes gt @ (D) ¥ ¥ o
Cash Flow Statement is prepared from
(A) Balance Sheet (B) Profit & Loss A/c
(C) Additional information 4B~ All of these
58. UHg YaTg faaw €9d @va ‘wad w1 e %4 5w v & & § afiga
Sl ?
(A)  g=Ter f (B) Tereita foran
c fREnf (D) ¥ ¥ =+ T
While preparing the Cash Flow Statement, the ‘cash purchase of
building’ will be classified as
(A) Operating activity (B) Financing activity
JQ’ Investing activity (D) None of these
[25A712/132 Page 16/ 32
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s0. T # A F-m Aohg 1 I T R 2
€ WiHEglg (D) ed =t § afe
Which of the following is not an application of cash ?
(A) Increase in Debtors
(B) Increase in Creditors
(C) Increase in Stock
(D) Increase in prepaid expenses
60. Tam el frmatt A U= wag &1 Jemw 2
A) e & T
B) fafram = fawg
(C) 3wt & fimw & U= wiftmd
(D) WIH =S
An example of cash flow from financing aetivities is
(A) Sale of goods
(B) Sale of investment
(C) Cash receiptfromissue of shares
(D) Interest received
61. @egft w fmior g B
A) g % fdw afufam g (B) e srfufem g
 fRvwisgmERam (D) (A) I (B)
A company is incorporated by
(A) A Special Act of Parliament
(B) Companies Act
(C) Agreement of investors
(D) Both (A) and (B)
62. 39 & fari W R
(a) daftma @™ B) e 7
(C) IR SN (D) 3N B
| 25A/12/132 | Page 17 / 32
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Discount on issue of share is

(A)  Capital gain ,(-BT/ Capital loss
(C) Revenue gain (D) ' Revenue loss
63. et el oA aigl A Nivw w T we afufEw, 2013 H
U % A=rid dl el R 2
A) 78 (B) 52
(C) 53 D) ¥ ¥ HE TE
'A company issues its shares at a premium under which section of
Indian Companies Act, 2013 ? )
(A) 78 (B) 52 |
(C) 53 (D) None of these
64. Th A § Tl w1 Qe B 8
(a) Hifta (B) i
) far (D) SREd=ITe
The liability of members in a cbrnpany is
(A) Limited (B) Unlimited
(C) Stable (D)  Fluctuating
65. UHYE § s wH uhy w1 hw @r ¥ Hiee frar s 2
(A) I g @ (B) I=A W AWM @
() whaegfa shfirem @ (D) 3 st @
The amount received over and above the par value is credited to
which account ?
(A) Share Capital A/c (B) Calls-in-advance A/c
(C)  Securities Premium A/c (D)  Share Forfeiture A/c
66. 3T T GR F A9 9 AR A vehie Pem s
A) W YSf @ & Iraia
(B) T e T WEYUW 7 % et
() Irtfiaa ®wU & A=wia
(D) TG U9 AR "3 & =g
[ 25A/12/132 | _ Page 18/ 32
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Balance of Share Forfeiture A/c is shown in the Balance Sheet
under the item
(A}  Share Capital A/c
(B) Current Liabilities and Provision
(C) Unsecured loan
(D) . Reserve and Surplus
o7, A A Rl wau ot e s % forg i doht 1 & wern I afew ?
(A) Hfﬁtr_ RIEE) (B)  <hral HIM
(C) 3T (D)  aferemy
Which of the following should be deducted from the called-ur
capital to find out paid-up capital ?

(A)  Call-in-advance (B) Calls-in-arrear
(C)  Share forfeiture (D) Premium
68. TC wwal W fe a3
(A)  w=EIiEt o B) Rl =l
(C) (A) 3 (B) S (D) T @NFE A
Sweat equity shares are issued to
(A) Employees (B} Directors
_ey~ Both (A) and (B) (D) None of them

69. UH HEH G 10,000 FW TIH 10 Fo Hl W H 10% 37Ty | S T
g srftemy Y ul¥r g
(A) 10,000 %o (B) 20,000 %o
(C) 8,000 %o (D) 5,000 %o
A company issued 10,000 shares of Rs. 10 each at a premium of
10%. The amount of premium will be
(A) Rs. 10,000 (B) Rs. 20,000
(C) Rs. 8,000 (D) Rs. 5,000
70, e Fiffaa @ @ e fhwet fean s @ 2
(A)  Gwal FOHTE (B) yaiftesr JwmaThal wi
(C) RurgauniEl Hl (D) SadHl H
To whom is dividend given at a fixed rate in a company ?
{A) Equity shareholders (B} Preference shareholders

(C) Debenture holders (D) Promoters

e L —————
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71. ﬁmﬁ—rﬁgaﬁﬁm-mﬁt:ﬁ’mmﬁ%
(A) =1 (B)
) WA (D) ed ST
Which of the following is a capital receipt ?
(A) Subscription
(B) Donation
4er” Building fund
. (D Interest on fixed deposit
72, %]Wmﬁ%mﬁg/mﬁmﬁ%mmm%
(A)  FE-S1E @@ () W T YA WA
(€ -z @ (D) ¥ T -
The surplus / deficit of not-for-profit organisation is ascertained by
JA-]/ Income & Expenditure A/c '
(B) Receipts and Payments Afc
(C) Profit & Loss A/c
(D} Income Statement
73. fr=ffag § @ S9-91 © FTHEERP
(A) AR H WA _(B) 9aq H YA
(C) a4 &1 fmin (D) w1 HE
Which of the following is a revenue expenditure ?
(A) Purchase of furniture
ABY” Payment of salaries
(C) Construction of building

(D} Purchase of machinery
74, Ta9y v § YW TH HI T 0@ 2

(A) i | (B) <
(€ oftma st D) =@
Donations received for specific purpose are treated as
(A) Asset (B) Liability
{C} . Capltal receipt (DJ EXPEHSE
75. maﬂtﬁﬁ?—'&?ﬂmm% _
{A) g ‘ETHT (B) &% @rar
(C) Wift @& e @ D) ¥ arfufyemd
25A/12/132
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1= b‘-u.nm-,m»}, of cash and bank transaction shows
(J‘“ Cash A,’L‘_
(B) BankA/c

Receipts and Payments A/c
(D) Bank overdraft

@) T s (B) T =
€ 3= (D) ¥ & avl

Payment of honorarium to Secretary is treated as
(A) Capital expenditure  _(By” Revenue expenditure

(C) Anincome (D)  All of these
77. ﬁmﬁﬁaﬁﬁaﬁq-mqma&amm-aq@m% 2
(a) IR T YA @ (B) 3ME-=99 @il
(€) T s (D) T A F
Which of the following shows transactions telated to one year ?
(A) Receipts and Payments A/c
'(B) Income & Expenditure A /¢
(C) Balance Sheet
(D) None of these
78, WA Yo EAT &
@A)  defrra gy (B)  TH WItW
C) W (D) =
Entrance fee is treated as
(A) Capital Receipt (B) Revenue Receipt
(C) Donation (D) Subscription
79.  wrfre fag 3R 0 F e w0 w@m fma S @ 2
(A) ™ 3N Y @il (B) W U WA Gl
(C) e @ (D) dSft wT
What is used to prepare the opening Balance Sheet ?
(A) Income and Expenditure A/c
(B) Receipts & Payments A /c
(C) CashA/c
(D) Capital A/c
Eﬁi’_lﬂiﬂ”ﬂ - Page 21 / 32
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80. &N wE W fewray wran 2 |
(A)  Tad (B) - A
© (a) 3R (B) 3 (D). ¥ & #E TE
Outstanding subscription is shown in
(A)  Balance Sheet (B) Income & Expenditure A/c
(C}  Both (A) and (B) (D) None of these
8l. Frafafigs § ¥ wi9-d woofy ws 72 adigr & YW % @9F W AET:
G i el & 2 _
(A) i () o weaftEl
) fEw (D) I
Which of the following assets is compulserily revalued at the time
of admission of a new partner ?
(A) Stock (B) Fixed Assets
(C) Investment 1By~ Goodwill
82. TuT§ W % gea § wft gt 2
(a) wH (B Gy
€ w™ | (DY ¥H ® I3 T
Decrease in the value. of fixed asset is called as
(A) Loss (B) Profit
_ier~" Depreciation (D) Nong of these
83. UAHeHATHA QIAT TS S &l & |
(A) TIH-IM GHEINH @@ S (B) @M-g @ $
(C) =AM T % (D) ageh @ &
Revaluation Account is alike a _
(A)  Profit and Loss Adjustment A/c
(B) Profit and Loss A/c
(C) TradingA/c
(D) Realisation A/c
84. mmmwﬁﬁﬁmﬁmmﬁﬂ'ﬁmﬁmuﬁlﬁ
2fie =401
(A) UHgEEH B) Sty @
(€ TASERFEIEEH (D) T TR F fh @y
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when @ new partner does not bring his share of goodwill in cash,

then the amount is debited to
(A) Cash A/c
(B) Premium A/c
New Partner’s Capital A/c
(D) Capital A/c of Old Partners

g5, WTHER % ot @t < shide fopar w7
@A) B w= (B) 3NEW W & |
(C) FEWH . D) @R H e @
The Partner’s Capital Account is credited with
,w,)/ Interest on Capital (B) Interest on Drawings
Drawings (D) Share in Loss
86. En‘%l?f Y T BT R S
(A) FEEAE A (B) @R % T wd ®
c) THTA (D) wTg-AA wAEeE g
The accumulated profits are transferred-to
(A) Realisation A/c {B) " Partners’ Capital Afc

(C) BankA/c "By Profit & Loss Appropriation Ajc

§7. ETHEHY 1 TS B @

(A)  ATEYEH (B) IAEEE
€ uifeufa o (D) T § HR T
Reconstitution of partnership is
(A) Necessary (B) ' -Unnecessary
,[I})/ Situational (D) None of these
88. @ﬁa@mmwﬁf%iﬁmﬁﬂ%mnﬁxaﬁmmﬁrﬁw%ﬂ
ST # widt A € 2
@) o fyeE sEaE E (B) TSl I U
(©) i I A (D) TR I W

In which ratio, the cash brought in for goodwill by the new partner

is shared by the existing partners ?

(A)  Profit sharing ratio (B) Capital ratio
Sacrificing ratio (D) Old ratio
l‘-——.._
L25A/12/132 Page 23 / 32

by:BSEBResult.In


https://bsebresult.in/bihar-board-12th-accountancy-question-paper/
https://bsebresult.in/bihar-board-12th-accountancy-question-paper/

IQQUI
aﬁﬂmﬂﬁm“w315?1%lm

g, Ty of warg Eren € Al

N rm%lmmmaamtsﬁwmwm
A g

Ay 2:1 B 1:2

(C) 3:5 (D) W

Hari, Roy and Prasad are partners and their profit sharing ratio is

3 :5: 1. Roy now wants to retire and his share is taken by Prasaq,

‘ New ratio of Hari and Prasad will be

90.

a) 2:1 - B 1:2

N & 3 X 2 A I WA g A Wed §) X T 2 g
g

(A) 1:2 B 2:1

€ 3:1 D) 11 .

X Y and Z are partners sharing, profit in the ratio of 3 : 4 : 3.
Y retires and X and Z shaceitheir profits in equal ratio. N ew ratio of

X and Z will be

a) 1:2 B) 2:1
© 3:1 D) 1:1
91. M % FO F UUHEET WA Z
) gFa R B) aftga i
() wuré gt (D)  ImiEa gt
Forfeiture of share results in the reduction of
(A Paid-up capital (B) Authorised capital’
(C) Fixed assets (D)  Reserved capital
92. A AT FENER Ff | _
(A) dier & Ameaw 4 (B) W& % wem @
© (a) 3 (@) D) T} = T
A company signs through
(A) Seal (B) Stamp
ey Both (A) and (B) (D} None of these
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Ky S ‘{“ﬁ;'ﬁ (B) el 3ur

(C) SUSE R Sy D

Debenture is the part of O wEAm

(A) cs)ham :.‘-apita'l (By ' Long-term borrowings
a4, ;:ﬂ:ﬂﬂmw.;;rg capital (D) None of these

() B & TS (B) i F AR

) FFF wifers (D) ¥H & %13 T

95.

254/12/132

chenturekholdcrs are the
(A) Customers of the company
7‘(51/ Creditors of the company
(C) Owners of the company
(D) None of these
FHOTH HAeT @rar fru ypfa w AL 2
(A) mﬁﬁ @ran (B) -~ =gaTd QT
() ATHE G (D) T A FE T
What is the nature of-Dehenture application account ?

(A) RealA/c _{By~ Personal A/c

(C) Nominal A/c (D) None of these

FOA T ¢ & 8 |
(A) Fof F ol 1 & R
B) fafm wog | g™

(€) ww S emil & fawg Th MW
(D) ¥ @ i T

. Interest péyable on debentures is

(A} An appropriation of profits of the company

(B Transfer to sinking fund

—M charge against the profit of the company

(D) None of these
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97. %ﬁ%ﬂwm%mm@ww*mﬁmmm

T e @ ) e frar smom ?
(A) &% @ ) 9% H G
(C) *RU9T Gran (D) FoME I Gl

In case of issue of debentures as a collateral security for the loan

taken from the bank, which account will be debited ?

(A) BankA/c (B) Bank Loan A/c

(C) Debenture A/c (D) Debenture Suspense Afc
98. T FEEA ¥ aniie R # woeE B few v % a9 R 2

(A) gl =w (B) el SUR

(C) = g (D) W TE S

In the Balance Sheet of a company, debentiires are shown under
which head ?

(A) Unsecured loan .,fBT"'T,o’ng—term borrowings
(C)  Current liabilities (D) Reserve & Surplus

99. VAl % Friua W & foran san @
C(a) o wE % Ew d (B) =T @R % &9 §
(C) = EIee % w9 H (D) fafau =3 & wq o

Discount on issue of debentures is recorded in the form of

(A)  Intangible Asset (B) Current Asset

() Curent Liabiltes (D) Miscellaneous Expenditure
100. worgsl = A W sfiftam B

(A) =RETE @ e —

(C) FTHHTE T D) 390 @
' Premium on redemption of debenture is a

(A) Personal Afc (B) RealA/c

(C} Nominal A/c (D)  Suspense A fc
[25A/12/132 | e T
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Gug - ¥ / SECTION - B
&Y I WY / Short Answer Type Questions
gyT e 14 30 7% 7Y IAT &1 76§ 1579 & I 3 RE &

ferg 2 si Frifea &1 15 x 2 =30
Question Nos. 1 to 30 are Short Answer Type. Answer any 15 questions.
15x2=30

Each question carries 2 marks.
A g Ryl & @ stwa sifwa il
Mention two objectives of financial statements.

0. THT NN % e % w1 < R Tl

State two objectives of common size statement.
3. Ty R & Rigeiw & F=0 FEE R P
What is meant by analysis of financial statements ?
4, .- %&ﬁa@mﬁmmﬁqﬁﬁ@imﬁﬁﬁmgﬂ@ﬁﬂaﬁmm% ?
Why are assets and liabilities revalued .on the death of a partner ?
g/azggﬁmaﬁaﬂ?m’fﬁwﬁﬁmm% P
When and why is realisation aecount prepared ?
B ardert & 7 ST e e cand 3 8 R ?
| Under what circumstances is a partnership firm, compulsorily

dissolved ?
7 W%Wﬁaﬁ%ﬁﬁmmwm%?

' What is meant by number of years’ purchase at the time of

~yaluation of goodwill ?

g‘s./ @rrﬁtﬁ;u@iwaﬁamaﬁai‘rwﬁl

/" State the conditions for valuation of goodwill.
gx""mmmgqmwammfﬁ T # i @ e ferd
r‘( : . 3 =
Write any two points of difference between sacrificing ratio and

gaining ratio.
10. wgfa Rrdwor @ ?
What is trend analysis ?
11. T ST % FEw & 9w w7

What do you understand by common size statement ?
25A/12/132 |
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14.
15.
16.

17.

18.

19,

[220]
FANT Frvdww F 2 Ryat & 99|

State two objectives of ratio analysis.
A T ROH T RIS &) 3 i
Differentiate between shares and debentures on any two points.

UGS WM 6 ChYEd YA gt 1 g ?

What is lumpsum payment method of redemption of debenture ?

UL & Y T R AW B P

What is meant by redemption of debentures ?
M -HIH 19T T4 A 1 g faE)
Write the formula of calculating gaining ratio.

X yuder §1 3 2 ;1 % oEm d ww-gi fnfia @ 21 3=
%ﬁnﬁm%mﬁﬁ 1 %@%ﬁmmﬁmwmﬁwwm
|

X and Y are partners. They share profits and losses in the ratio of

2 : 1. They admit Z into partnership by gwmg L th share in future
profits. Calculate the new profit sharing ratio.

Hhua av frl wed € 2

What is called accumulated profit ?
gsft faftr =6t ror foRd e & STt R 2
How is Capital Fund calculated ?

AT WIMR TAT A F FEER A AW B

Distinguish between charge against profit and appropnaﬂon of
profit.

/}r’a@arﬂaﬁ@w%p

22,

What is partnership deed ? .

X vaR zfedft wd o 3 : 2 ; z%aqgmai?i'ﬁmam% G‘@Eﬂ%i
Ymmmmﬁl xR zufrer ¥ 4 - 3%313!11315?:#1%: RICR it
=1 fulg od 81 o wif s 3 w1

X, Y and Z are partners sharing pmﬁt in the ratio of 3 : 2 : 2.
Y retires. X and Z decide to share profit in future in the ratio of
4 : 3. Calculate gaining ratio.

wye Sfiad i aifedt w8 ?
What is joint life policy ?
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24, T WO % o W A S P o W A @

State the items which are debited to deceased partner’s capital
account,

25. W Q) YA gw sl % AW wwd)
Name any two solvency ratios.
26. g yaTE foww R w0 R RWE E 2
. What are the objectives of preparing Cash Flow Statement ?
27.  fofam wEdt frnai @ deg wfiafe % 2 semo
Give two examples of cash outflow from investing activities.
28, AT WHAT 39 B 1 3 B ?
What is Sweat equity share ?
29, HTR S W w0 e R 2
' Why does company forfeit shares ?
307 INGA HUNT 1R ?
' ~ What is Redeemable Debenture ?
e I uv Long Aunswer Type Questions
TSN 31 R i e R I i AR 4Rl S s i Rw &

feq 5 siw Praif &) 4x5=20
Question Nos. 31 to 38 are Long Answer Type. Answer any 4 questions.
Each question carries 5 marks. 4x5=20

.31, . wifd 3R YA @ w® a0 3 ?,%#ammmﬂﬁmmﬁm%?

What is Receipts and Payments Account ? How is it different from
Income and Expenditure Account ?

P g v w2 2 saeh! gE fadward aard
' " What is partnership firm ? State its main characteristics.
33, qodcs F fea @ 7 3 R 2 9% 6w v dam fwn e R 2

What is meant by comparative income statement ? How is it

prepared ?

25A/12/132 Page 29 / 32

by:BSEBResult.In



https://bsebresult.in/bihar-board-12th-accountancy-question-paper/
https://bsebresult.in/bihar-board-12th-accountancy-question-paper/

3

33.

36.

» [220)
SETE TS0 991 § 2 36 ITHT 7 QU A
What is Cash Flow Statement ? Describe its uses.
Hr, i o fiftee vt 9 %w 30 1,00,000 Fo Bt TR i a4y
T M@ @™ 2019-20, 40,000 To ; 2020-21, 46,000 To qUT 202123,
52,000 %o 1| 2020-21 & 3,000 %o & @M T TFI B Fi TAH 5
A fodt f7 adt & st omw & @ a6t & 7 HE U1 wE g

i Y Top &6t

The total capital of the firm of Sourabh, Mohit and Nikhil wag

Rs. 1,00,000. The net profits for the last three years were : 2019-29
e

Rs. 40,000 ; 2020-21 Rs. 46,000 and 2021-22 Rs. 52,000.:1‘}.1&&

was an abnormal loss of Rs. 3,000 in 2020-21. Goodwill of the firm

was to be valued at 2 years’ purchase of the average profit of last

three years. Calculate the goodwill of the fifrh.

AN BF T wi ¥ fmer W Fsfater ool % fore w91 A

viaf¥at S st »

i) fqwes = 500 508

i)  M-fafed agfarE 2,500 w0 6 wwEh €

ii) 2,000 %o i Tl i vga @ sgeh @ § weiafa w0 R
o, Teh WIHGH A% gRT o foran mam| '

iv) R W, S IR @ ageh @ § weila @ 99 2, 3,000 %o
T T

v) SRl W 4,000 % F AW A AR B 3 1 % s § @t
EICiEd

What journal entries would you pass for the following transactions
on the dissolution of a firm of A and B ?

i) Dissolution expenses amounted to Rs. 500.

ii) Unrecorded assets realised Rs. 2,500.

iiij  Stock worth Rs. 2,000 already transferred to realisation
account was taken over by a partner A.
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iv)  Creditors, already transferred to realisation account Werc
paid Rs, 3,000.

v)  Profit on realisation Rs. 4,000 is to be distributed between
A and Bin the ratioof 3 : 1. |

37.  dmd fafs X 10 3o wRr 3w F 6,000 3w W N 2 Fo Wy 7 A

o frifiva fvw e &, 3 w0 WY i Y aif FrEAT TR F T T F@ R

T % v T few g ot & @ 300 3f A 8 To gft iw ol wed

@b w0 R sim % @ qwn @ERE H s deEmE

st iR @ € i g @ M daw S

Cemto Ltd. forfeited 6,000 shares of Rs. 10 each issued at a
premium of Rs. 2 per share for the non-payment of final call of
Rs. 3 per share. 300 of the forfeited shares were re-issued for Rs. 8
per share as fully paid up. Pass necessary journal entries for the
forfeiture and re-issue of shares. Also prepare share forfeited

account.

38. A fufies frr gum wem w20

%o
i) - oifm @D 1,00,000
i) @R | 86,000
iii) U®s ' 20,000
iv) e e 18,000
vy fshi 6,00,000
vij —wrftwmfel 1,20,000
vi) ¥ - 42,000
vii)  stfefesd © 34,000
gy e aaTal Y o w R

(a) =TE], ST, (b) WA I, () T T I, (d) T w
STEd I
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A Ltd. provides the following information :

[220|

Rs.
1) Closing Stock 1,00,000
ii)  Creditors 86,000
iiij Cash 20,000
iv) Bills Receivable 18,000
v) Sales 6,00,000
vi) Fixed Assets 1,20,000
viij Bank 42,000

34,000

viii) Overdraft
You are required to calc

(a) Current Ratio, (b) Quick Ratio, (c)} Stoc

(d) Fixed Asset Turnover Ratio.

ulate the following ratios :

k Turnover Ratip,

fagme S A ddfda @afl orererd],

ST YA, 51551 77,

Eﬁlg 3 -
clv :*-‘.n'rl'ﬁ':'i" 5, ._,_L!”.__

-,ngaz

!--l.-ll'

UEe UTal & fBE...
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